Newcastle MBA Golf Club Inc.
Master Builders Exchange GC

Start Sheet
Newcastle -v- Sydney ~ 2016
Single + 2 Ball Aggregate Stableford

The Springs Golf Club
2nd March 2016

o | - sle|a sle|a sle|a 58| a
_I—g Time Player 1 § 'E i’ Player 2 § 'E % Player 3 § 'E % Player 4 § 'E i’
la [ 11:45 | Blackmore, Tony b |y |29 Outridge Richard (v) n|y|23| Britt, Peter c |y |29| Britt, Jamie(v) cly|27
1b | 11:52 | Sheppard, Gary n|y|24| Davies, Chris i |y [15] Connors, Mark i |y [36] Arms Geoffrey i |y|18
2a | 11:45 | George, Christopher i |y |19 Davies, Mitchel i |y [215] Jones, Phil iy |21
2b | 11:52 | Barrett, Barry n|y]|25]| Callins William n|y|16| Bannerman, George i |y |15
3 | 11:45 | Barnett, Denis n|y|15]| Sutherland, Peter i |y |14 ]| Brien, Damian n |y | 18| Buckingham, Nick (v) nly]|13
4 | 11:45 | Branz, Nathan n|fn| 5] Gray,Lynn i [ y|25]| Johnson, Chris n|ly|®6 Keeley, Rod ni|y/|17
Sa | 11:45 | Atkin, Charles n |y 27| Penfold, Colin n|y 19| Roy,Dennis n|y|13| Eagar, Donad nly|25
Bb | 11:52 | Bliss, Catherine n| n |42 Bliss, Matthew n| n|18]| Gibson, Garry nfy]S8 Canty, Steve (V) ni|y/|?27
6 | 11:45 | Hancock, Denis i |y |22 Atchison, Edward c|y|11| Hooper, Tim n|y|16| Hooper, Rowan nily]|19
7 | 11:45 | Loh, Troy n|ly| 5] McNamara, Mark n | n | 18| McCurrach, Kenneth n|y|19] Mation, Tony (V) nly]|19
8 | 11:45 | Jolley, Chris b |y |25 Jolley, Kenneth n|y|17| Wheatley, Rodney n|y|14] Tilley, Wayne nlyl21
9 [ 11:45 | Allsopp, Neville i [y |13 Macrae Colin I | v |32]| Degnan, Graeme n|y|20] Scully,Alan nly]|12
10a| 11:45 | Heppell, Jonathan b |y |17| Atkins Brian n |y | 18| Ranniko, Hillary n|y|17] Paterson, Hugh n|y|18
10b| 11:52 | Worthington, Daniel n |y |[11]| McLaughlin, John i |y |25 Morcom,Barry n|y|13]| Sciuriaga, Reynold nly]|12
Non GolfLink Player MBE Member ® or Guest Dinner Apology Members Guests
L egend Coach pick up 12 Coach pick up 3 Coach pick up 3 Coach pick up 1
Hunter Stadium [i] Charlestown [c] Belmont [b] Lake Munmorah [I]
VENUE The SpringsGC A Grade = + to 18 B Grade = 19 to 36 Total # of players= 54




